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16. Which of the following has the least value?
a. (1 x 1000) + (2 x 100) + (3 x 10) + (2 x 1)
b. (1 x 1000) + (2 x 100) + (3 x 10)
c. (1 x 1000) + (3 x 100) + (2 x 10)
d. (1 x 1000) + (3 x 100) + (2 x 1)
17. Which of the following has the highest value?
a. (4 x 1000) + (2 x 100) + (2 x 10)
b. (4 x 1000) + (2 x 100) + (3 x 10) + (2 x 1)
c. (4 x 1000) + (3 x 100) + (2 x 10)
d. (4 x 1000) + (3 x 100) + (2 x 1)
18. Express 10,010 in its expanded form.
a. (1 x 10 000) + (1 x 100) b. (1 x 10 00) + (1 x 1000)
c. (1 x 10 000) + (1 x 1000) d. (1 x 10 000) + (1 x 10)
19. What digit in 15,012 is multiplied with 1000?
al b.5 c.0 d. 2
20. What digit in 30,231 should be multiplied to 10000?

a. 3 b.2 c.l d. none
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